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Test of Chinese as a Foreign Language: Reading

NI R Bh B AR SR AR

Band A

Y X2 & ¥ Directions:

— AR R SOH > F KM A 60 4 -

You have 60 minutes to work on this test. There are a total of 50 test items.

ZHANBEELABEELSEFY > BEAMAENEER A AL -
You must indicate your answers ON THE ANSWER SHEET. Answers written on
the question booklet will not be graded.

EFRFBAE > RTRAEFFRNKT - o RA BANE > FHFEF
BRAAR 2L EHF R -
Once the test begins, you may not leave the test room. If you have any questions,

please raise your hand. The test proctor will help you.

W FRER > FHAAPRERZFRERE - FERARKS FAZAE
FTREHF -
When the test is over, please put your question booklet and answer sheet on the desk.

Please do not leave until the test proctor have collected all of the test materials.
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Part One

(% 1~1533)

WO EEANY  RAEH—AGFRA)BNCZKEH - FRBEH FHEL
MNEZKEA Pl 5 TEEMAHAN -

Directions: In this part of the test, each test item will include one sentence and three pictures (A), (B),
and (C). Please choose the picture that best describes the sentence.

15 3 %= T Example :

o H —a iR Z KA R

You will see one sentence and three pictures.

1 S ERITZEA -
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o = f

A

R EEEB) AREFRELEFE
The correct answer is (B). Please fill in the corresponding circle on your answer sheet.
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(A) (B) (C)

EE—F=v A -
(A) (B) (©)

T — AL ik f -
(A) (B) (C)

B ek LA T -

&) ®) ©
e -

|

==

pd =

B RABT A AL S A R AR AR -
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Part Two

(% 16 ~ 30 22)

W AR R FE—KBR - mAREBRA > AA)B)C) =R ik
B 5B A NEFE T

Directions: In this test part, each test item will show a picture. Please choose the single best description
from answers (A), (B), or (C).

18] 2 %= T Example :

e BB —KBABZANGT

You will see one picture and three sentences.

2.
(A) EEZHRA -
(B) ki % LKE -
(C) erXLTE7T -

XM ERE(A) > HSERESEFE
The correct answer to this test item is (A). Please fill in the corresponding circle on your answer sheet.

2. @ ® ©




(A) & Z R A -
(B) KEHF5ET -
C) mEAESE -

(A) & T HREEEL -
(B) eI THFEFF -
C) A NMAWMART H & -

INERiN -2
(B) #AMEEIKE -
C) HEZAANEWIE -

(A) ¥R B ELRATS
(B) f?cﬁéﬁi‘fﬁﬁmd’ﬁ/% :
(C) F kiR B eyar @



20.

(A) #efi & T @F 7 -
(B) fadin it 43R4 s -
C) kAELEFAENEL -

21,
(A) B REZXASH -
(B) bt 473X R4 1A A -
(C) #e& 45ty B 1RIL K 3K -
22.
STz IRIE
SR EF+—mE b\
RV FERE FEXLay (A) X RARAE b F k&
HFPIIRANALS 7ﬁﬁ (B) XFIMIER ML HIR -
BX =t7 C) XRMEFT—RABEH®RE -
+EF =+H5%
B —+H5% ;
23,

(A) RRERELEZREH -
(B) Xz AR T HEFW -
(C) &R AFMEET T34 -




24.

25.

26.

27.

. A

H A -
A Ja) -
HE!
AR :

1 R P L3R

5.1~6.14

85304 %/10,530%

102
5.3(m)
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LIF R

TF ik

CMERERTRD
Efi— BHC Efi= 28N =85

&

g xBEE AR

K gk

(A) i Z+E5EFRY -
(B) #hikB| eyt + 57T -
C) i+ sty EREILT -

(A) R ¥ R — K E=ZA et -
(B) w4 Lk =O—HF Lk -
(C) xA gty A R A =8 RER -

(A) MAEEILEALSE -
(B) E A ZjmAiXE bR L -
C) #EWHIEARARLLZHT -

(A) e—ZHiEFHwm K -
(B) NERKHEZH T Fetk & -
OREES LT FILEE X



28.

(A) ZENAFMKESEH L -
(B) TH & &XH F2|HMiE -
(C) 66 5% &/ A5k —3E -

29.

NEtE

o EFH160007T

o WBE. —BFT. —AE
o BzxE. FILALEN

o IZUNE |, ERETDE

B ESLE
0911-234567 \_ '

;_!ff J

(A) a8 A2 F AL -
(B) ANZE®@AAE—A SN -
(C) s MFHALRERHEEE -



|
SRBEZHRBLRZ.
WA, SRiTFAZKRIE,
BIAB—RRBEE—
Wo IB5EIARIE A —iF
PR F ST A TR,
!

(A) ZABRHBHH =4 -
(B) % = R BN RAE R 494 T -
(C) AR S oG —ARIKH -
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Part Three

(% 31~ 40 %)

B EEANER Y BNEASH —KEEBAR > BATEA RN T HHRIER
Figs B mbENEE -

Directions: This test part is divided into sections. Each section has one picture and five sentences.
Please choose the answers that best describe each picture.

18] 2 %= T Example :

RaE B —RKBAFEAGT

You will see one picture and five sentences.

1k A Mok kB E -
(Ai# (B)x (CO)%

2 441 "G g

(A)x#a BRA (C)rik
3ERZ2ER_ -

A)#EF B  (C)&F
AXRRTH A

(A)ky (B2 (C)%W
SAREAHE  HE ARE -
(A) o, (B) - Ao+ (C) SLove Lo

FoAMAEERRA) FRERRELEFLE -
The correct answer to Question 1 is (A). Please fill in the corresponding circle on your answer sheet.

1. @ ® ©




31.

32.

33.

34.

35.

YA IE 8 B 1% B 37 -
(A 20
(B) Tk
(C) # %

W R I — KARATHS > kAR FTHE -
(A) %
(B) #
©) £

%7K WILK » ZRAEFRETE -
(A) &
B) 7
C) #
INAR— R T4 > ek AT 9 BHE 3L & BTHAERT -
(A) s
(B) %nid
(C) AR



36.

37.

38.

39.

40.

FAR SR B M — RAR K8 K ¥ -
SEL
(B) + &
(C) A

MEHWABRELRT > WA 8E > vE A RARAS -
(A) 2%
(B) &
(C) &&

A RN EAREF RN ES) 0 FAKRT LN A ARKRT -
(A) &
(B) &
(C) =

B TAHENGE > RETHS KRBT — R F X -
(A) #
(B) &
(C) =

it ITERMIAKRS T > ST E R BERT R X -
(A) &5
(B) &%
(C) HerA
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Part Four

(% 41~ 45 )

HEA - Ez\ Wy e FI—BREL BXPHARIANATR BXLTHA NIRRT -
FAREE LA LT A ERESZTROEE - F&E > — M LEFREA—

;ko

Directions: In this test part, you will read a short passage. The passage has five blank spaces. Six
possible answers for the blank spaces are provided under the passage. Please choose the best answer for
each blank. Note that each answer can only be used for one blank space.

18] B %= T Example :

IS | Bl 2 A G At N T
You will see one short passage and six options.

B EARRR KR (L) © B A BRAVERAR S PARAT » PTh KR,
1 (2) c AR RARA LTI 3) C ARAT IR - BRAVE
AR B F LR RT (4) » AR - BRBRET > RAMEAAR
(5) !

(A) | TREFFTT
(B) | #E=+%

(C) |&kZBA

(D) | &% T

(E) | EREEZHRL I
(F) | —AREERMm

FomnEEEB) FRAFRELEFLE -
The correct answer to Question 1 is (B). Please fill in the corresponding circle on your answer sheet.
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HR—ENZETRERAET HEFAEHNERDNT  FTMEER
cegna M (41) - ARERRESHE 0 mEE T AR R4
7y > (42) - BFx @ g —A a0 Efef KK

2L g

(43) > 2RIREWEFR R L (44) > [2RAK—ERHF
EXEZ0RA (45) > H—FEAEEAKR— LR ERIX ) EF

(A) ET7T—REAET
B) #A—EXKER
(C) #H—EEZES VA&
(D) #—ERTRIE
(E) 7R 2 &4 EfR i {E

(F) TAFEwHZFINER
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Part Five

(3 46 - 50 £4)

WA EEANEHY > R FEIILEE L ARG RAE — A 0 HRIES
XAy A A E A A

Directions: In this test part, you will read several passages. Each passage will be followed by a

question. Please choose the correct answer according to the passage.

18] 2 %= T Example :

ek B —BEL ~ — AN AL IR
You will see one short passage, one question and four possible answers.

BRBZIF ST E > LL2BERIA - ARASRKHME "£8 T4
T ARALIEABEAERNE L - Ritd g — R REHA > TV
MAbA1E EFE R S RE > ITUARELRTHFIUNRA - AR 2O AHRE
w]'(;]‘ |

5. BEXLFHAT R ZMAT L& T8 ?
(A) %+

(B) :AF

(C) Fisz4

(D) #FHEF

$EMHAERQC) FRRALEAELAZEFLE -
The correct answer to Question 5 is (C). Please fill in the corresponding circle on your answer sheet.

5. ® G @ ©
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Bl R 09 A R AR AT T B2 st A 0 REMREA A LG v A
B AR RETEANEG AR THEX LR REAAHIN G
B TMBHROE > R OHAEE LT UGBFOE > S L E -

de RFEAR > RRBEF A ?

46. BT R G BRI ZEBZA L 2
(A) BRXZEHT g TEA
(B) SHIFHTUA LR
(C) FrEFRMHA—ZIHRE
(D) A F# BT EARS

(=)

RE2RBRLCETBENPR? AL I ELNAI LR ELSP
JE?ARMBIRY REPRAREY - TREAEARAARZIE LB
RIRR OB LT RN B P EE ST Rl a2 HGE R
12T IR B > BT AL E S AR ML -

47. B L FEEMTA?
(A) AE P8P 7%
(B) LRAEBARLAK S U4
(C) #2TPHTUBRE S04k
(D) e REHPETRA RGPS



(=)

IR SR BAFARAT » AR BRI T — BRI 0 A T feledkads o o F
RARG ] BASDNE » BFFE - RAE > AR — R R R AN SR
BT KEFMIEFESZLTA RFHHR - &R WRGRE AN TR -
{2 LA — E AR - de I RA > BB R AR CERFRT » WKLk F

IR % -

48. NAIm RFLERLE R > AL EZEH?
(A) e —%
(B) X2 —XkMRIFtH%Z 5%
(C) ML ARIFHZ A A A
(D) ATWER > RCLETEE

()

— RIAENCNE  FOARARRLE > FOANTHREA > 2 HILXHGR
Rl REFERAARATFLZHETRAOXER - THALENTALEREZLS %
— RAAEFHRANFATA —ARAAEIEL F—PARKAEEAINL
LI R TAERRE - F o BERBASPNT XTI > TG F a2
— /B s FRFIRSF > ZIHNIE D RRSRAZRF RN R B > Hea T
g Ley T -

49. fE& AT 0 AT AF AR WA LYEH A R a8 ?
(A) AT KERZE KA ~ BRI RIL
(B) % FET @ ZH60 L F R4
(C) Hfi1Ta 2% T1E2]| —F#HFIET R
(D) N ARKFEZFH L TIAE



(&)

ER > RKRBIFT — A2 K8 9 MREB| F AR » REFAK R RN &
o # R G o Lk R FA1E FAR - B A AL AR FHF AT > B F A6 1948 — A
BAE—A REZBENHRT | ZEAMTER—EILRT ? RALAH > K
EMEBRKE — L LT Tk o A2 & & T BOFRE R Z B RINR
CERAT J-

50. M T RFEMNZAFMRERAE  ELZ2EX?
(A) 3FFFIRTAT
(B) sttt —H% 1 F4T
(C) F4idBH AFEH I RIEK
(D) ## 25 LorEmiteyis



